SURUGA

Motorized Linear age SEIKIF

InstructionManual  C € GIED

Model numbek KXTI lo1sdl cl

colour
Inside

KXT



PP P PP PRPRT PO 3
PP TP PP PP 3
PP PP PPPPP 4
L B e 5
2P PP PPPTPPPRPR 7
2. L e e e 7
2 e e e e e e e 7
2.3 e e e e e e e e e 8
2 PP PP PP PPPTPPPRRTT 9
2. PP PP PP PR PPPRPPRPPR 10
2.6 e e 12
2 (PP PP PPPPPPRPPT 13
722 < PP PPP PR PPPRPPRPPT 15
722 PP PP PP PPPPPPRPP 20
220 O PP PP PPP PP PPPPPPRPPR 21
. BU e e s 23
R 0t PP PP PP PPPPPPRPP 23
3.2 B e a e e 23
33 ROH S e e e 23
3.4 EM C e 24
OO P PP PPPPPPRPP 26
PP PP PP PR PPPTRP 26
PP O PP PP PR PPPTRP 27
e OO S PP PPPPPPRPP 28
PP PP PR PPPTRP 29
B e e s 30

..................................................................................................... 31



1.1




1.2

A DANGER

/A\WARNING

/N\CAUTION

ISO 12100:2010

S
o




1.3

O 00 0 0 0 @

/A\WARNING

/A\WARNING

/\WARNING

/A\WARNING

/A\WARNING

/\WARNING




/A\WARNING

/A\WARNING
/N\WARNING
/N\CAUTION
/N\CAUTION



2.1

2.2

2m (D214-2-2RK)
4m (D214-2-4RK)

K X T | [ 0O 1 5 -
n 0 2
No.
n KXT
04: 40x40mm
o]
06: 60x60mm
L:L
J
R:
G:
n J:
KXT04015
M3 x 8
KXT06015
M4 x 8




2.3

/A\WARNING

/A\WARNING

O



2.4

S SURUGA c €
SEIKIDI @

3)
(4)

(®)

-~

\

CE

TYPE : KXT04015-LCG

[ C/N_: 000000000001-1 w

24V— *=10%1.5A

A\

(6)

(1)
(2) CE

®)
(4)

(®)
(6)

No.



KXT04015-LC KXT06015-LC
( ) KXT04015-RC KXT06015-RC
40 x 40 mm 60 x 60 mm
"6 1mm
(1 15 mm
( ) ( )
10 kgf 98 N
0.38 kg 0.60 kg
( ) 2 pym (Full') / 1 pm (Half
MAX 10 mm/s
0.38/ 0.35/ 0.1/ 0.08/
0.21cf] /N 0.05cin] /N
10 pm
+1 pum
2.5 um
10 pm
20 um
/ 30 / 25 35 / 30
DC24V+10%  1.5A

C005C-90215P-1
5 0.75 A/
( )
0.72-
(ORG)
(NORG)
EE-SX4134 ( )
EE-SX4320 ( )*
DC5 24 V z10%
60 mA
NPN DC5-24V (8mA )
0.3V ( 2 mA)
( ) OFF( )
HR10A-10R-12PC(71) ( )
HR10A-10P-125(73) ( )
*2018
A : 70dB

10



w

o>

0

T

/A\WARNING

/N\CAUTION



2.6

CCw ( ) ® I
( )
( ) ° I I
( )
cw ( ) I ®
( ) e
cw Cccw
Cw < » CCW
[mm]
Ccw CCW
7 6.2 0 15 3 9.2 10
KXT
8.5 7.7 1.5 0 1.5 7.7 8.5
+0.5 mm
ON/OFF

/\WARNING

O
O

/N\CAUTION

12




2.7

KXT04015-LC

40 65.5
L-M34DP =
I — 32 59.5
,:: [l N el —
o 1 e lo ® o [ i
— 1|
% - |27 [
* [
of - o
ol 6
/ \_Qh [
"‘ ’ @”
4 - 35THRU, 06 Ca0RE] [P S N
(Bolt hale for M3} W
5 30
3 S 77[
o~ L,_: ‘
|
< 32
KXT04015-RC
2 1 2 = 4— M3 40P
59.5 e )
i, i} |, T
(\l‘l‘ ]
5[" i =
I
knoo/ ]
4 — 3.5THRU, 6 C'BORE
(Bolt hole for M3)
'
) I i@ @] -
! \

13



KXT06015-LC

L—M&4DP 80 e 655
50 L 59.5
Y
fle @ o
[
2| = © ol =
© |
N
I \Knob
(- 6
4 — 6.5THRU, 08 C’BORE/ ol
(Bolt hole for M4) Ty =
205 ‘ 30
S S [ ‘ ]
~ [ w < |
\ \ |
. | 50 |
KXT06015 -RC
65.5 60
5.5 o 50 _4— M4 4DP
O
[ e © © AR )
°| ¢ I e e
T - i
/1 ~ 9 o
Knob/ T L o ® o] ¥
A AN
i o of | 11
} | 4 — 4.5THRU.08 CBORE
= 1—] (Bolt hole for M4)
\: 30 \ 205
> .
m I ] =
{ = =
\ \
| 50 .

A\ CAUTION

14



2.8

PLC
DC24V
(LPS)

)

CVD507-K (
2 (P17

)

2m/4m/6ém
1 (P16

15



SPEC

() C ) C )

D214 2 2EK D214 2 4EK D214 2 6EK

HR10A 10P 12S(73)(

2m 4m 6m

R33 mm

fBEE—ILF

N

SPEC

G J
)

D214 2 2RK D214 2 4RK D214 2 6RK

HR10A 10P 12S(73)(

2m 4m 6m

16




SPEC

CVD507 K (

C005C-90215P-1

DC24 V+1D4A Max

0.75 A/

1 1/250

0 50

65(W) x 45(D) x 21(H) mm

0.02 kg

17




HR10A-10R-12FC(71)
( )

HR10A-10R-12S(73)

)
5

1 ()

2 ()

3 ()

4 ()

5 ()

6 CWLS Ccw

7 CCWLS | CCw

8

9 () (DC5-24 V)

10 ORG ORG

11 () | GND

12 F.G F.G.
D214-2-2EK, D214-2-4EK, D214-2-6EK
D214-2-2RK, D214-2-4RK, D214-2-6RK )

Pin

1 ()

2 ()

3 ()

4 ()

5 ()

6 Ccw

7 CCw

8 GND

9 (DC5-24 V)

10 | ORG

11 | GND

12 | F.G.

( )

18




DC24V
(LPS)

P@—@@@—@@(@@@—

\ :
CWLS () |
CWLS .
CCWLS () ;
CCWLS , /PLC
ORG () |
ORG ;
+V Vi) i DC5-24V
v 11 Vi) ; (SELV)
- 4
1
O
F.G.

/A WARNING

19




2.9

5 50 20 70 RH
22 +5 20 70 RH
2000m
IPOO IEC60529

2 |EC60664-1

/A\WARNING

20



2.10

10,

/A\CAUTION

/A\CAUTION

OFF

/A\WARNING

21



KXT04015

‘M3 x 8 4  ( 21N m)
KXT06015
‘M4x 8 4  ( 2.3 N m)

O
O 0

22






























